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Thinking Corner

1. The number of possible solutions when soving system of linear

equations in three variables are......

o Watch Video Solution

2. If three planes are parallel then the number of possible point(s) of

intersection is/are ........

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KQKxv018fg8A
https://dl.doubtnut.com/l/_aaRnJ1igYROJ

3. Complete the factor tree for the given polynomials f(x) and g(x).

Hence find their GCD and LCM.

1.GCD [f(z) and ¢(z)] = weorecnnn

2.LCM [f(z) and g(@)] = weerene

o Watch Video Solution

4, Is

f(z) x g(z) x r(z) = LCM|[f(z), g(x), r(z)] X GCD|f(z), g(z), r(x)]

?

o Watch Video Solution

sinx

5.Are 2> — land tanz = rational expressions ?

COS


https://dl.doubtnut.com/l/_aaRnJ1igYROJ
https://dl.doubtnut.com/l/_Z7f7QNN5Nw9Z
https://dl.doubtnut.com/l/_hgURkE6d3zbQ
https://dl.doubtnut.com/l/_MRDApyPg4Tx3

o Watch Video Solution

3 2_10 8
6. The number of excluded values of T T+ IS soreeeeeereeeeeens
x4 + 822 -9

o Watch Video Solution

7.The sum of two rational expression is always a rational expression.

o Watch Video Solution

8. The product of two rational expressions is always a rational

expression.

o Watch Video Solution

9. Fill up the empty box in each of the given expression so that the

resulting quadratic polynomial becomes a perfect square.


https://dl.doubtnut.com/l/_MRDApyPg4Tx3
https://dl.doubtnut.com/l/_HWfReJM2oeoU
https://dl.doubtnut.com/l/_E5vTsnjOJykl
https://dl.doubtnut.com/l/_izObBNToTezM
https://dl.doubtnut.com/l/_NmpKH3ZldnZm

() 22 + 142 + .

(i) 22 — 242 + e

N R —

o Watch Video Solution

Progress Check

1. For system of linear equations with three variables the minimum

number of equations required to get unique solution is .....

o Watch Video Solution

2. A system with ... Will reduce to identity.

o Watch Video Solution

3. A system with ..o Will provide absurd equation.


https://dl.doubtnut.com/l/_NmpKH3ZldnZm
https://dl.doubtnut.com/l/_EEtRT3H6nU9y
https://dl.doubtnut.com/l/_uWrugFM8PG6u
https://dl.doubtnut.com/l/_EEjclZc3xKjz

o Watch Video Solution

4. When two polynomials of same degree has to be divided, .....should

be considered to fix the dividend.

o Watch Video Solution

5.1f r(z) = 0 when f(x) is divided by g(x) then g(x) then g(x) is called

.................. of the polynomials.

o Watch Video Solution

6.If f(z) = g(z)g(x) + 7(x), e must be added to f(x) to make f(x)

completely divisible by g(x).

o Watch Video Solution



https://dl.doubtnut.com/l/_EEjclZc3xKjz
https://dl.doubtnut.com/l/_o7sEq9Iu03zM
https://dl.doubtnut.com/l/_fmaUUyhv4kZq
https://dl.doubtnut.com/l/_dilpbRwDnSWE

7. 0f f(z) = g(z)g(x) + 7(T), v Must be subtracted to f(x) to

make f(x) completely divisible by g(x).

o Watch Video Solution

8. Find the unknown expression in the following figures.

o Watch Video Solution

9. Write an expression that represents the perimeter of the figure and

simplify.


https://dl.doubtnut.com/l/_71xhR4DHnjM5
https://dl.doubtnut.com/l/_LVkgOFjGly7j
https://dl.doubtnut.com/l/_WLtcY1wl8Cee

o Watch Video Solution

10. Find the base of the given parallelogram whose perimeter is

B 422 + 10z — 50
(2 -3)(z+5)

o Watch Video Solution



https://dl.doubtnut.com/l/_WLtcY1wl8Cee
https://dl.doubtnut.com/l/_9w3wkYizeRTP
https://dl.doubtnut.com/l/_gQYZUViFzY13

M.1s 2> + 4z + 4 a perfect square ?

o Watch Video Solution

12. What is the value of x in 3\/z = 9?

° Watch Video Solution

13. The square root of 361z%y* is .

° Watch Video Solution

14. \/a2:n2 + 2abz + b =

° Watch Video Solution



https://dl.doubtnut.com/l/_gQYZUViFzY13
https://dl.doubtnut.com/l/_0vrJVyfzfyJJ
https://dl.doubtnut.com/l/_sTsf3keZvOba
https://dl.doubtnut.com/l/_ucWkkvAeMZPE

15. If a polynomial is a perfect square then its factors will be repeated

____number of times.

o Watch Video Solution

16. Complete the following table

Quadratic Roots of | Coefficients | Sum | Product -b__ _c —|_C6nclusion
equation quadratic | of x*, xand | of gilie== | = |
equation | constants | Roots rools
aand p a+p | (ap) J
49 +2=0 \
2
(=3 |
22 - 15x-27=0 |

o Watch Video Solution

1. Solve the following system of linear equations in three variables

r+y+z2=52r—-—y+z=9x—2y+32=16



https://dl.doubtnut.com/l/_OjwcqprQC5p0
https://dl.doubtnut.com/l/_wzwFb9i542Ol
https://dl.doubtnut.com/l/_GsOgqAiNsAee

l ° Watch Video Solution

2. Discuss the nature of solutions of the following system is equations

T+2y—2=6, -3z —2y+52= —12,z —22=3

o Watch Video Solution

3.Vani, her father and her grand father have an average age of 53. One-
half of her grand father's age plus one-third of her father's age plus one
fourth of Vani's age is 65. Four years ago if Vani's grandfather was four

times as old as Vani then how old are they all now?

o Watch Video Solution

4. The sum of the digits of a three-digit number is 11. If the digits are

revesed, the new number is 46 more than five times the former number.


https://dl.doubtnut.com/l/_GsOgqAiNsAee
https://dl.doubtnut.com/l/_rA12UTzj6ej6
https://dl.doubtnut.com/l/_bQ86SGRxqKGP
https://dl.doubtnut.com/l/_obbUvpxXv6Gv

If the hundreds digit plus twice the tens digit is equal to the units

digits, then find the original three digit number?

o Watch Video Solution

5. There are 12 pieces of five, ten and twenty rupee currrencies whose
total value is ¥105. When first 2 sorts are interchanged in their numbers
its value will be increased by ¥20. Find the number of currencies in each

sort.

o Watch Video Solution

1. Find the GCD of the given polynomials

3zt + 62 — 1222 — 24z, 42 + 1423 + 822 — 8z

o Watch Video Solution



https://dl.doubtnut.com/l/_obbUvpxXv6Gv
https://dl.doubtnut.com/l/_0wAGK1qrYFTg
https://dl.doubtnut.com/l/_fy4WJvlyHPb5

2. Find the LCM of the given expressions.

4%y, 831>

o Watch Video Solution

1. Find the LCM and GCD for the following and verify that

f(z) x g(z) = LCM x GCD

21x*(2)y, 35xy”™(2)°

o Watch Video Solution

2. Find the LCM of each pair of the following polynomials

a’ + 4a — 12, a®> — 5a + 6 whose GCD is a-2

© Watch video Solution



https://dl.doubtnut.com/l/_TvFXtXMVOYzg
https://dl.doubtnut.com/l/_8z3MkL53W2Un
https://dl.doubtnut.com/l/_FFvf5lSuVJJy
https://dl.doubtnut.com/l/_HHGjcmVxXwzH

3. Find the GCD for each pair of the following polynomials

12(334 —z%), 8(904 — 32° + 2z”)whose LCM is 24*(z — 1) (z — 2)

o Watch Video Solution

4. Given the LCM and GCD of the two polynomials p(x) and q(x) find the

unknownn polynomial in the following table

No | LCM ; GCD | p( | 49()
(i) & - 10a2-+§a—v7 a2—12ad’
Ma+70  *3S ,
i) 2+ o (- ot -y o2
R ks B I £ e )

o Watch Video Solution



https://dl.doubtnut.com/l/_HHGjcmVxXwzH
https://dl.doubtnut.com/l/_hok3rsnqBwi6

1. Reduce each of the following retional expression to its lowest table

form.

x2—1

2+ x

o Watch Video Solution

2. Find the excluded values, if any of the following expressions

_ Y
y2 — 25

o Watch Video Solution

1. Simplify
42y " 6x2>
222 20y4

o Watch Video Solution



https://dl.doubtnut.com/l/_J3ACEgEUGjrQ
https://dl.doubtnut.com/l/_T3rfnfLtMAJm
https://dl.doubtnut.com/l/_brUTKfahNqiV

2. Simplify:

322 + 9zy + 647 2 — g2
T Ty Y T Y

o Watch Video Solution

3. Simplify

b2+3b—28; b2 — 49
B2+4b+4 b2 —5b— 14

o Watch Video Solution

24+3c—-14 24218
4.Ifa::a+—aandy: @ T 2a
3a2 — 3 2a2 — 2a — 4

find the value of 2%y 2

o Watch Video Solution

5 If a polynomial p(z) = 2> — 5z — 14 is divided by another

olynomial q(x) we get z -1
poly q g z 12

, find q(x).

| o war_r_L vl ~_ ..


https://dl.doubtnut.com/l/_jE5dQS7ebrcM
https://dl.doubtnut.com/l/_sRIKaBYNOgN1
https://dl.doubtnut.com/l/_QpgiyoUiob2q
https://dl.doubtnut.com/l/_BMzeia5ZqU6H

L vvdllill vIUCO o0I1uULivIl

1. Simplify
z(z+1) z(1—=z)
T — 2 + T — 2

o Watch Video Solution

2. Simplify
2z +1)(z —2) (22 — 5z + 2)
x—4 x—4

o Watch Video Solution

223 + 22 + 3
from

3. Subtract
xz + 2 (w2 + 2)2

o Watch Video Solution



https://dl.doubtnut.com/l/_BMzeia5ZqU6H
https://dl.doubtnut.com/l/_0DS1kB9N5TLQ
https://dl.doubtnut.com/l/_xQfTDfyommHW
https://dl.doubtnut.com/l/_SrN1PXp36MBr
https://dl.doubtnut.com/l/_9RixQH7mh6E8

2
6 8
4. Which rational expression should be subtracted from rabrt®

3 + 8

t t 3

oget ——— .

8 22 —or 14
o Watch Video Solution
2¢ +1 2¢ — 1 1 2B

> 2r — 1’ 2¢ + 1 IndA—B A? — B?

° Watch Video Solution
6 If A= z B = 1 t~((A+B)"(2)+(A-B)"(2))/(A+B)=
. =1 —m+1,pfrove +B)=

2(x"(2)+0))/(x(x+1)"(2))

o Watch Video Solution

7.Peri needs 4 hours to complete a work. His friend Yuvan needs 6 hours
to complete the same work. How long will take to complete if they work

together?



https://dl.doubtnut.com/l/_9RixQH7mh6E8
https://dl.doubtnut.com/l/_9kbvvuC9uPWY
https://dl.doubtnut.com/l/_eh4FVmqvCmO0
https://dl.doubtnut.com/l/_DVgMd0Fm9NEx

| o Watch Video Solution

8. Iniya bought 50 kg of fruits consisting of apples and bananas. She
paid twice as much per kg for the apple as she did for the banana. If
Iniya bought ¥1800 worth of apples and ¥600 worth bananas, then how

many kg of each fruits did she buy?

o Watch Video Solution

1. Find the square root of the following rational expressions.
400.,1:4y12216
10028y 24

o Watch Video Solution



https://dl.doubtnut.com/l/_DVgMd0Fm9NEx
https://dl.doubtnut.com/l/_KjZBzTDa0nTE
https://dl.doubtnut.com/l/_jGJF9Ssrp9D5

2. Find the square root of the following

1 3 4 11
(2332 + 77:1: + 1> <§x2 + 4x + 2) (E:cz + ?:c + 2>

o Watch Video Solution

1. Find the square root of the following polynomials by division method

z* —122% + 4222 — 362 + 9

o Watch Video Solution

2. Find the square root of the expressions

2 2
w00 L
y? y Tz

o Watch Video Solution



https://dl.doubtnut.com/l/_Ew4ivagZnRkS
https://dl.doubtnut.com/l/_uPqFxP1U9LDI
https://dl.doubtnut.com/l/_Ffn5OEGANcap
https://dl.doubtnut.com/l/_i1RVtGFJLB1g

3. Find the values of a and b if the following polynomials are perfect

squares

dg* — 1223 + 3722 + bz + a

o Watch Video Solution

4. Find the values of m and n if the following expression are perfect

squares.

1 6 13

o Watch Video Solution

1. Determine the quadratic equations, whose sum and product of roots

are

—9,20

o Watch Video Solution



https://dl.doubtnut.com/l/_i1RVtGFJLB1g
https://dl.doubtnut.com/l/_AtZy1X94Xv3C
https://dl.doubtnut.com/l/_Pj3k8dVGtHwe

2. Find the sum and product of the roots for each of the following
quadratic equations

2 +3x—28=0

o Watch Video Solution

1. Solve the following quadratic equations by factorization method.

422 — T —2=0

o Watch Video Solution

2. The number of volleyball games that must be scheduled in a league

2
—-n .
where each team plays with

with n teams is given by G(n) = n


https://dl.doubtnut.com/l/_Pj3k8dVGtHwe
https://dl.doubtnut.com/l/_YU95GasLoUIu
https://dl.doubtnut.com/l/_D0DcwZ389Sis
https://dl.doubtnut.com/l/_KvW0Sovk5z40

every other team exactly once. A league scheledules 15 games. How

many teams are in the league?

o Watch Video Solution

Exercise 3 11

1. Solve the following quadratic equation by completing the square
method

922 — 122 +4 =10

o Watch Video Solution

2. Solve the following quadratic equation by formula method

222 — 5z +2=10

© Watch video Solution



https://dl.doubtnut.com/l/_KvW0Sovk5z40
https://dl.doubtnut.com/l/_CVGrCGPZWNu1
https://dl.doubtnut.com/l/_iOP2tGi3pdGC

3. A ball rolls down a slope and travels a distance d = t* — 0.75¢ feet in
t seconds. Find the time when the distance traveled by the ball is

11.25feet.

o Watch Video Solution

Exercise 3 12

1. If the difference between a number and its reciprocal is 5 find the

number.

o Watch Video Solution

2. A garden measuring 12m by 16m is to have wide installed all the way
around so that it incease the total area of 285m?”. What is the width of

the pathway?

o Watch Video Solution



https://dl.doubtnut.com/l/_PS0jfaEvRIxk
https://dl.doubtnut.com/l/_alxLShgBvaap
https://dl.doubtnut.com/l/_fXsIKrfA25sx

3. A bus covers a distance of 90km at a unform speed. Had the speed
been 15km/hour more it would have taken 30 minutes less for the

journey. Find the original speed of the bus.

° Watch Video Solution

4. A girl is twice as old as her sister. Five years hence, the product of

their ages (in years) will be 375. Find their present ages.

o Watch Video Solution

5. A pole has to be erected at a point on the boundary of a circular
ground of diameter 20m in such a way that the difference of its distance
form two diameterically opposite fixed gates P and Q on the boundary is
4 m. Is it possible to do so? If answer is yes at what distance from the

two gates should the pole be erected?

[ o= |


https://dl.doubtnut.com/l/_fXsIKrfA25sx
https://dl.doubtnut.com/l/_gPZ6Z8o0AVh3
https://dl.doubtnut.com/l/_nhDqSeqfmWBf
https://dl.doubtnut.com/l/_fvtvRZrnNESl

[ & Watch Video Solution ]

6. From a group of black bees 2z2, square root of half of the group went
to a tree. Again eightninth of th ebess went to the same tree. The
remaining two got caught up in a fragrant lotus. How many bees were

there in total?

o Watch Video Solution

7. Music is been played in two opposite galleries with certain group of
people. In the first gallery a group of 4 singers were singing and in the
second gallery 9 singers were singing. The two galleries are separate by
the distance of 70m. Where should a person stand for hearing the same
intensity of the singers voice? (Hit: The ratio of the sound intensity is

equal to square of the ratio of their corresponding distances).

° Watch Video Solution



https://dl.doubtnut.com/l/_fvtvRZrnNESl
https://dl.doubtnut.com/l/_YjXN4B7k036w
https://dl.doubtnut.com/l/_4nj94GUhtuH0

8. There is a square field whose side is 10 m. A square flower bed is
prepared in its centre leaving a gravel path all round the flower bed. The
total cost of the laying the flower bed and gravelling the path at ¥3 and
34 per square metre respectively is ¥364. Find the width of the gravel

path.

o Watch Video Solution

9. Two woman together took 100 eggs to a market, one had more than
the other. Both sold tham for the same sum of the money. The first then
said to the second, "If 1 had your eggs, | would have earned 15", to
which the second replied: "If 1 had your eggs, | would have earned ?6%?.

How many eggs did each had in the beginning?

o Watch Video Solution



https://dl.doubtnut.com/l/_W6hAMRMJpZKb
https://dl.doubtnut.com/l/_LuWtlT0bAnTH

10. The hypotenuse of a right angled triangle is 25cm an dits perimeter

56 cm. Find the length of the smallest side.

o Watch Video Solution

Exercise 3 13

1. Determine the nature of the roots for the following quadratic

equations

1522 + 11z +2=0

o Watch Video Solution

2. Find the value of 'k' for which the roots of the following equations are
real and equal

(5k — 6)z® +2kz +1 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_2wFqAr9EXuPE
https://dl.doubtnut.com/l/_UU9ifpQiUozg
https://dl.doubtnut.com/l/_Egt8gQNIXHHl

3. If the roots of (a — b)z®> + (b—c¢)z + (c —a) = 0 are real and

equal, then prove that b, a, c are in arithmetic progression.

o Watch Video Solution

4. If a, b are real then show that the roots of the equation

(a — b)z? — 6(a + b)z — 9(a — b) = 0 are real and unequal.

° Watch Video Solution

5. If the roots of the equation
(c2 — ab):l:2 — 2(a2 — bc)a: + b? — ac = 0 are equal, prove that either

a=0o0ra®+b +c = 3ab-

o Watch Video Solution



https://dl.doubtnut.com/l/_Egt8gQNIXHHl
https://dl.doubtnut.com/l/_8hZr5ejhyea3
https://dl.doubtnut.com/l/_wbTQJiurXS2b
https://dl.doubtnut.com/l/_LRZWZzCVcRIm

Exercise 3 14

1. Write each of the following expressions in terms of & + 8 and af.

a B
36 38

o Watch Video Solution

2. The roots of the equation 22> — 7z + 5 = 0 are a and 3. Without

solving the root find

a+2 B+2
B+2  a+2

o Watch Video Solution

3. The roots of the equation 22 +6x —4=0 are «,f. Find the

quadratic equation whose roots area

(azﬂ) and B2«

o Watch Video Solution



https://dl.doubtnut.com/l/_Sf8QqPyXYpJU
https://dl.doubtnut.com/l/_NcScxh63fjle
https://dl.doubtnut.com/l/_xLbWixPsSkxK

—13
4.If o, 8 are the roots of 7z? + az + 2 =0and if B — a = — find

the value of a.

o Watch Video Solution

5.1f one root of the equation 2y? — ay + 64 = 0 is twice the other then

find the values of a.

° Watch Video Solution

6. If one root of equation 3z(2) + kz + 81 = 0 (having real roots) is

the square of the other then find k.

o Watch Video Solution

Exercise 3 15



https://dl.doubtnut.com/l/_xLbWixPsSkxK
https://dl.doubtnut.com/l/_LL2KfFDAQAoo
https://dl.doubtnut.com/l/_fSMzjK5aOhsA
https://dl.doubtnut.com/l/_SvM7QomUfAqS
https://dl.doubtnut.com/l/_W1VAc0jvS1aT

1. Graph the following quadratic equations and state their nature of
solutions.

224+z+7=0

o Watch Video Solution

2. Draw the graph of y = z? — 4 and hence solve 2*> — z — 12 = 0.

o Watch Video Solution

3. Draw the graph of y = 2® + z and hence solve 2> + 1 = 0.

o Watch Video Solution

4, Draw the graph of y=2%+3z+2 and use it to solve

22 +22+1=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_W1VAc0jvS1aT
https://dl.doubtnut.com/l/_lTWWFJ4xMaEB
https://dl.doubtnut.com/l/_OAHIZCIhhRXi
https://dl.doubtnut.com/l/_SPkuHgvWqaXY

5. Draw the graph y =2+ 3z —4 and hence use it to solve

22+ 3z —4=0.

o Watch Video Solution

6. Draw the graph of y=a2—5z+6 and hence solve

22 — 5z —14 = 0.

o Watch Video Solution

7. Draw the graph of y=222—-3z—5 and hence solve

222 — 4z — 6 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_SPkuHgvWqaXY
https://dl.doubtnut.com/l/_s22vqPSnMNeo
https://dl.doubtnut.com/l/_Hqd5Mc3Zpd52
https://dl.doubtnut.com/l/_Epz1fAgezUqI

8. Draw the graph of y=(z—1)(z+3) and hence solve

22—z —6=0.

o Watch Video Solution

Exercise 3 16

-8 9 4 3
_ V3
1.In the matrix A = L V7 2 > , Write
1 4 3 0
| 6 8 —11 1

The number of elements.

° Watch Video Solution

-8 9 4 3-
_1 V7 8B 5

2 , Write
1 4 3 0

6 8 —11 1]

2.In the matrix A =

The order of the matrix.



https://dl.doubtnut.com/l/_lpKGI2eTTvGw
https://dl.doubtnut.com/l/_xlkwxl4UHdJF
https://dl.doubtnut.com/l/_jk8mZHgGlIRM

| ° Watch Video Solution

-8 9 4 3
_ V3
3.In the matrix A = 1 V7 2 2 , Write
1 4 3 0
| 6 8 —11 1

Write the elements a9, ass, asy, asy, 43, G4y,

© Watch video Solution

4.1f a matrix has 18 elements, what are the possible orders it can have ?

What, if it has 5 elements ?

o Watch Video Solution

5. Construct a 3 x 3 matrix whose elements are given by

(i +5)°
3

a;; =

o Watch Video Solution



https://dl.doubtnut.com/l/_jk8mZHgGlIRM
https://dl.doubtnut.com/l/_zrXM1QS76F7E
https://dl.doubtnut.com/l/_qpty0EMrC5UK
https://dl.doubtnut.com/l/_rLLSrrrcfBQe

5 4

6.f A= |1 —7 9 | then find the transpose of A.
3 8 2

o Watch Video Solution

VT -3
7fA=| -5 2 then find the transpose of - A.
V3 -5

o Watch Video Solution

5 2 2
8.f A= | —V17 0.7 g then verify (AT)T = A.
8 3 1

o Watch Video Solution

9. Find the values of x, y, and z from the following equations

R


https://dl.doubtnut.com/l/_rLLSrrrcfBQe
https://dl.doubtnut.com/l/_yssAzWFOnjhQ
https://dl.doubtnut.com/l/_uzU9AacJ3yeq
https://dl.doubtnut.com/l/_q1uOjZ7PomBG
https://dl.doubtnut.com/l/_tuLR8y7bzTl5

o Watch Video Solution

Exercise 3 17

1 9 5 7
1L.fA= |3 4 |,B= |3 3| then verifythat
8 —3 10
A+B=B+ A

© Wwatch video Solution

4 3 1 2 3 4 8 3 4
2. If A=123 -8|,B=|1 9 2 |,Cc=|1 -2 3
10 -4 -7 1 -1 2 4 -1

then verifythat A + (B+ C) = (A+ B) + ¢

o Watch Video Solution

70 30
3.FindtheXandYif X +Y = [3 5] and X—Y:[ ]

[ e~


https://dl.doubtnut.com/l/_tuLR8y7bzTl5
https://dl.doubtnut.com/l/_kwBJbwV2ECZv
https://dl.doubtnut.com/l/_h0XHvtRueiOV
https://dl.doubtnut.com/l/_13xtKT9lIdfc

(' watch Video Solution

ara=g o7

73 8
8 3 7

find the value of
1 4 9

B-5A

o Watch Video Solution

5.Find the value of x,y, z if

x—3 3r — 2 (10
t+y+7 z+y+z/) \1 6

o Watch Video Solution

6.Findxandyifx[4 —3]+y[—-2 3] =[4 6]

o Watch Video Solution



https://dl.doubtnut.com/l/_13xtKT9lIdfc
https://dl.doubtnut.com/l/_f6iGZH4TelH6
https://dl.doubtnut.com/l/_n7fZ2ET4Zglq
https://dl.doubtnut.com/l/_kCnvDq0jtgmX

7.Find the non-zero values of x satisfying the matrix equation

2¢ 2 285:13 _2:c2+8 24
w3:c’44:c_ 10 6z

° Watch Video Solution

x2 — 2z 5
8. Solve for x, y, o | T 2 =
y -y 8

° Watch Video Solution

Exercise 3 18

1. Find the order of the product matrix AB is

o Watch Video Solution



https://dl.doubtnut.com/l/_qxQfrdiXoUmt
https://dl.doubtnut.com/l/_A4nTN9QS96Ty
https://dl.doubtnut.com/l/_t27K1mHUy2jL
https://dl.doubtnut.com/l/_r6tOll0Hkjrs

2.1f Ais of order p X g and B is of order g X r, what is order of AB and

BA?

o Watch Video Solution

3. A has 'a' rows and 'a+3' columns. B has 'b' rows and '17-b' columns, and

if both products AB and BA exists, find a, b?

o Watch Video Solution

ara= |7 )5~
4

1 —
3 l 53 ] find AB, BA and check if AB=BA?

2

o Watch Video Solution

s cven thae 4L 3] gt 12 1 32
Soven et A=y 1P T 3 5 2" T -4 1 3

verify that A(B + C) = AB + AC.

| ° Watch Video Solution |


https://dl.doubtnut.com/l/_r6tOll0Hkjrs
https://dl.doubtnut.com/l/_0eHiHlp4S5Bb
https://dl.doubtnut.com/l/_hV7thk96RA5b
https://dl.doubtnut.com/l/_ZQmhyETGLvK9

. 1 2 1 -2 .
6. Show that the matrices A = [3 1],B: l 1 } satisfy

commutative property AB=BA.

o Watch Video Solution

1 2 4 0 20
7.let A = , B = ,C = show that
1 3 15 1 2

A(BC) = (AB)C

o Watch Video Solution

6 in @
8 If A= €08 0 ,B = St ,O then show that
0 cos@ 0 sinf

A2+ B2 =1

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQmhyETGLvK9
https://dl.doubtnut.com/l/_nodFhRrKSeC0
https://dl.doubtnut.com/l/_H1Ymynf6dSzp
https://dl.doubtnut.com/l/_qT8438RHFXAZ

cosf —sinf T
9.If A = prove that AA" = I.

sinf cosé@

o Watch Video Solution

5 —4
10. Verify that A2 = I when A = (6 5>

o Watch Video Solution

1. If A= (%Y amar—(* 0 show
c d 01

A% — (a +d)A = (bc — ad)I,.

that

o Watch Video Solution

7

2
wira= |77 0]e-

1 2 8
-1

1 2 | verify that (AB)T = BTAT.

o Watch Video Solution



https://dl.doubtnut.com/l/_O8EntJL1Jg9Z
https://dl.doubtnut.com/l/_d0qFVMEAdbz2
https://dl.doubtnut.com/l/_rcOV1vli9Giu
https://dl.doubtnut.com/l/_4yRMDTNtp5pM

3 1
13.1f A = <_1 2) showthat A2 — 54 + 7L =0

o Watch Video Solution

1. A system of three linear equations in three variables is inconsistent if
their planes.

A. intersect only at a point

B.intersect in a line

C. coincides with each other

D. do not intersect

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0cV8JzndxBFP
https://dl.doubtnut.com/l/_LR7xTIBb6t4T
https://dl.doubtnut.com/l/_mdAH65uu3xEQ

2. The solution of the system

r+y—3z2= —6, —Ty+72=7,32=9is

Bz = —1l,y=2,2=3

Ce=—-1ly= —2,2=3

Answer: A

o Watch Video Solution

3.If (x-6) is the HCF of 22 — 22 — 24 and z? — kx — 6 then the value of
kis.

A3

B.5

C.6


https://dl.doubtnut.com/l/_mdAH65uu3xEQ
https://dl.doubtnut.com/l/_dildI3h0NMgd

D.8

Answer: B

o Watch Video Solution

4, - IS
Y 3y?
9y
A —
7
9 3
B — 4
(21y — 21)
c 21y2 — 42y + 21
. 3y3
5 7(y2 — 2y + 1)
. y2
Answer: A

o Watch Video Solution

1
5.9% + — is not equal to
Y


https://dl.doubtnut.com/l/_dildI3h0NMgd
https://dl.doubtnut.com/l/_RxHV9qMyGuLv
https://dl.doubtnut.com/l/_cToI6KzrPJxM

Answer: B

o Watch Video Solution

€T 8
2225 224 6x4+5

gives

z? — Tz + 40
" (z —5)(z + 5)
z2 4 Tz + 40
(x —5)(z+5)(z+1)
c z2 — Tz + 40
(22 - 25)(x + 1)
z? + 10
(22 - 25)(z + 1)

Answer: C

[ o war_sr_L vl ~_ ..


https://dl.doubtnut.com/l/_cToI6KzrPJxM
https://dl.doubtnut.com/l/_RKyXoew91Q3o

L T vvallll VIUCoO o0IuLion )

2562894210
7.The square root of ——————— is equal to
25167626
16 | z22*
5|
2
Y
B. 16 2
16| y
C.—|—=
S |x22
b 16 | 2>
5y
Answer: D

° Watch Video Solution

8. Which of the following should be added to make z* + 64 a perfect

square.

A. 4z?

B. 162>


https://dl.doubtnut.com/l/_RKyXoew91Q3o
https://dl.doubtnut.com/l/_mHwlhrzVf7p5
https://dl.doubtnut.com/l/_fMO3sTGqD52V

C. 8z

D. — 8z2

Answer: B

o Watch Video Solution

9. The solution of (22 — 1)® = 9is equal to ........ None of these

A—1
B. 2
c.—1,2

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fMO3sTGqD52V
https://dl.doubtnut.com/l/_cl2a8B9WUrCt

10. The values of a and b if 4a* — 242> + 7622 + az + b is a perfect
square are

A. 100120

B. 10,12

C. —120, 100

D. 12,10

Answer: C

o Watch Video Solution

11.If the roots of the equation ¢*z? + p*z + r* = 0 are the squares of
the roots of the equation qzc2 + px +r = 0,then qp,r arein ... . AP
G.P Both AP and G.P none of these

A AP

B.G.P


https://dl.doubtnut.com/l/_Bx2nOms1fyog
https://dl.doubtnut.com/l/_PX8LFVH4HvZu

C.Both AP and G.P

D. None of these

Answer: B

o View Text Solution

12. Graph of a linear polynomial is a

A. straight line

B. circle

C. parabola

D. hyperbola

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PX8LFVH4HvZu
https://dl.doubtnut.com/l/_a2LlGsDq91wB

13. The number of points of intersection of the quadratic polynomial
z? + 4z + 4 with the X axis.

A.O

B.1

C.Oor1

D.2

Answer: B

o Watch Video Solution

1 3 5 7
14.For the given matrix A = |2 4 6 8 | the order of the matrix
9 11 13 15
AT is
A2x3

B.3 x 2


https://dl.doubtnut.com/l/_hl6wAWV9Rf81
https://dl.doubtnut.com/l/_Ud42Sr8rVH7Q

C.3x4

D.4 x 3

Answer: C

o Watch Video Solution

15.1f Alis a 2 X 3 matrix and B is 3 X 4 matrix, how many columns does

AB have

A3

B.4

C.2

D.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Ud42Sr8rVH7Q
https://dl.doubtnut.com/l/_fSMIB8IVUUaH
https://dl.doubtnut.com/l/_RgfOSdv6XcjP

16. If number of columns and rows are not equal in a matrix then it is

said to be a .....

A. diagonal matrix

B. rectangular matrix

C. square matrix

D. identity matrix

Answer: B

o Watch Video Solution

17. Transpose of a column matrix is ......

A. Unit matrix

B. diagonal matrix

C. column matrix


https://dl.doubtnut.com/l/_RgfOSdv6XcjP
https://dl.doubtnut.com/l/_tkMCidOfyqnm

D. row matrix

Answer: D

o Watch Video Solution

1 3 5 7
18. Find the matrix X if 2X + =

5 7 9 5
[ —2 —2
Al _1]
(2 2
5| _1]
1 2
<, 2}
(2 1
>. |5 2}
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tkMCidOfyqnm
https://dl.doubtnut.com/l/_nIlvrXepgp69

19. Which of the following can be caluculated from the given matrices

1 2 12 3

A= 1|3 4|,B=|4 5 6
5 6 7 89

(VA2 (ii)B?

(ii)AB (iv)BA

A. (i) and (ii) only

B. (ii) and (iii) only

C. (ii) and (iv) only

D. all of these

Answer: C

o Watch Video Solution

1 0
20.If A L 23 B 2 1 d C 01 hich of
. =13 9 1|'B= - an =|_9 s which o

5 5
the following statements are corrrect? (i) AB+ C = L,) 5] (i)


https://dl.doubtnut.com/l/_JyBi7aD8i2XE
https://dl.doubtnut.com/l/_eDwb1EaB7bD4

0 1
BC=|2 -3 (iii)BA—f—C:lz 5](iv)(AB)C:l

-8 20
3 0
-4 10

-8 13

A. (i) and (ii) only
B. (ii) and (iii) only
C. (iii) and (iv) only

D. all of these

Answer: A

o Watch Video Solution

1
1.So|ve§(m+y—5) =y—z=2rx—11=9— (z + 2z2).

© Watch video Solution



https://dl.doubtnut.com/l/_eDwb1EaB7bD4
https://dl.doubtnut.com/l/_QeIqfXtXSR71

2. One hundred and fifty students are admitted to a school. They are
distributed over three sections A, B, C. If 6 students are shifted from
section A to Sections C, the students will have equal number of
students. If 4 times of students of section C exceeds the number of
students of setion A by the number of students in sectionB, find the

number of students in the sections.

o Watch Video Solution

3. In a three-digit number, when the tens and the hundreds digit are
interchanged the new number is 54 more than three times the original
number. If 198 is added three times the original number. If 198 is added
to the number, the digits are reversed. The tests difit exceeds the
hundreds digit by twice as that of the tens digit exceeds the unit digit.

Find the originall number.

° Watch Video Solution



https://dl.doubtnut.com/l/_qvpz92OyDPAy
https://dl.doubtnut.com/l/_A5gLYU3yiHQ7
https://dl.doubtnut.com/l/_Z1mdcaFApwKF

4. Find the least number common multiple of

a:y(k2 + 1) + k(az2 + y2) and xy(k2 — 1) + k(x2 — y2).

o Watch Video Solution

5. Find the GCD of following by division algorithm

2zt + 1323 + 2722 + 232 + 7,23 + 32> + 3z + 1,22 + 2z + 1.

© Watch video Solution

6. Reduce the given Rational expression to its lowest form

1023 — 2522 + 4z — 10
—4 — 10x2

° Watch Video Solution

1 1

1 2 g2 g2
Z.simplify 2— " w14 LT 7P

1_ 1 2pr

p q+r

° Watch Video Solution



https://dl.doubtnut.com/l/_Z1mdcaFApwKF
https://dl.doubtnut.com/l/_ZH5HlvwAxiWk
https://dl.doubtnut.com/l/_ntoPjgRK7sZO
https://dl.doubtnut.com/l/_v1sOTwDJG5AY

8. Arul, Ravi, and Ram working together can clean a store in 6 hours.
Working alone, Ravi takes twice as long to clean the store as Arul does.
Ram needs three times as long as Arul does. How long would it take

each if they are working alone?

° Watch Video Solution

9. Find the square root of 289z* — 612> + 97022 — 684z + 361.

° Watch Video Solution

10.Solve /y + 1+ ,/2y — 5 = 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_v1sOTwDJG5AY
https://dl.doubtnut.com/l/_i2MLastlkTfD
https://dl.doubtnut.com/l/_yr6VEMoFWykz
https://dl.doubtnut.com/l/_ltgIl1rBpHA3

11. A boat takes 1.6 hours longer to go 36kms up a river than down the
river. If the speed of the water current is 4 km per hr, what is the speed

of the boat in still water?

° Watch Video Solution

12. Is it possible to design a rectangular park of perimeter 320m and

area 4800m?? If so find its length and breadth.

° Watch Video Solution

13. At t minutes past 2 pm, the time needed by the minutes hand of a
clock to show 3pm was found to be 3 minutes less than (t"2)/4 minutes.

Find t.

o Watch Video Solution



https://dl.doubtnut.com/l/_hqMya1to4HDb
https://dl.doubtnut.com/l/_98RKEZO6LHQC
https://dl.doubtnut.com/l/_JAo7DCWVjN6n

14. The number of seats in a row is equal to the total number of rows in
a hall. The total number of seats in the hall will increase by 375 if the
number of rows is doubled and the number of seats in each row is

reduced by 5. Find the number of rows in the hall at the beginning.

° Watch Video Solution

15.1f a and f3 are zeroes of the polynomial f(z) = 2*> — 2z + 3. Find a

polynomial whose roots are & + 2 and 8 + 2

o Watch Video Solution

16. If -4 is a root of the equation z? + pz — 4 = 0 and the equation

z? 4+ px + q = 0 has coincident roots, find the values of p and q.

o Watch Video Solution



https://dl.doubtnut.com/l/_r3ge6zZatObv
https://dl.doubtnut.com/l/_V5qel5euizXu
https://dl.doubtnut.com/l/_qLMhWjQiTTCF

17. Two farmers and Ravi cultivates three varieties of grains namely rice,
wheat and ragi. If the sale (in ¥) of three varieties of grains by both the

farmers in the month of April is given by the matrix.
April sale in X

~ rice  Wheat ragi e
A= 500 1000 1500 Senthil

12500 1500 500 |Ravi

y—

and the May
month sale (in ) is exactly twice as that of the April month sale for each

variety.

What is the average sales of the months April and May.

o Watch Video Solution

cosf siné . x  —cosb
18. If cos 0 . + sinf = I,, find x.
—sinf cos6 cos 6 x

o Watch Video Solution



https://dl.doubtnut.com/l/_wmFr2lnIvhR9
https://dl.doubtnut.com/l/_mzg9x5250dMk

2 -2
19. Given A = p 0 , B = 0 q ,C = and If BA = C?,
0 2 10 2 2

find p and q.

o Watch Video Solution

20. A = 30 , B = 63 ,C = 3 0 find the matrix D, such
4 5 8 5 11

that CD — AB = 0.

° Watch Video Solution

Additional Questions Solved

1. The HCF of 22 — 2, 2% — 93, ......2" — y",wheren € Nis. ........ :

Az —y

Bz +y

n

Cz" —y


https://dl.doubtnut.com/l/_ZSk4uOM8zXdY
https://dl.doubtnut.com/l/_p8Q68YnpUcQ2
https://dl.doubtnut.com/l/_Bi5hB4jyAvA3

D. do not intersect

Answer: A

o Watch Video Solution

2. The zeroes of z°>— 2z— 8 are:

Answer: B

o Watch Video Solution

3. The HCF of 22 — 2zy + y? and z*

—y4 (3 .



https://dl.doubtnut.com/l/_Bi5hB4jyAvA3
https://dl.doubtnut.com/l/_EuFeHtLlIwCC
https://dl.doubtnut.com/l/_B4ScO0fCe17x

A1l

B.x+ vy
Cxz—uvy

D. z2 —y2

Answer: C

o Watch Video Solution

4.The LCM.of a*, a* 3, a* ™5 where k € Nis . :

A ak—|—5

B. ak

C. ak—|—6

D. ak—l—g

Answer: A

| o war_o_L vl _ e~_0..n®_


https://dl.doubtnut.com/l/_B4ScO0fCe17x
https://dl.doubtnut.com/l/_k4ois4DQpH0i

L vvallll VIUCO o0I1uLioInl

5.The LCM of (z + 1)*(z — 3) and (22 — 9) (z + 1) iS v .

A (z + 1)3(51:2 —9)
B.(z + 1)2(91:2 - 9)
C.(z+1)%*(z —3)

D.(z —9)(z +1)

Answer: B

o Watch Video Solution

3 b3
p— is added with, —

6. If

A.a®> — ab + b

B.a2 + ab + b’

C.a® + b

then the new expressions is ... .



https://dl.doubtnut.com/l/_k4ois4DQpH0i
https://dl.doubtnut.com/l/_iB1k4vckJRYJ
https://dl.doubtnut.com/l/_QpESfDkXD3hF

D.a® — b°

Answer: B

o Watch Video Solution

7.The solutionsetof x + — = — is ....... .
T

Answer: A

o Watch Video Solution

z? — 25 T +95

8.0n dividing P v RS is equal to



https://dl.doubtnut.com/l/_QpESfDkXD3hF
https://dl.doubtnut.com/l/_dBs8iIJ1OvSZ
https://dl.doubtnut.com/l/_baHYskqfuPmx

A (z —5)(z+3)
B.(z + 5)(x — 3)
C.(z —5)(z —3)

D.(z — 5)(z + 3)

Answer: C

o Watch Video Solution

9. The square root of (z + 11)* — 44z is ........ .

A|(z - 11)?|
B. |z + 11
C.[11 — 2?|

D. |z — 11|

Answer: D

| ° war_r_L vl ~_ ..


https://dl.doubtnut.com/l/_baHYskqfuPmx
https://dl.doubtnut.com/l/_b5YeJEX9FRv8

L vvallil vVIiUCO o0I1utiornl )

10.If o, B are the zeros of the polynomial p(z) = 4z% + 3z + 7, then

L4 L isequalto @)~ () — L (0) 2 ()~ 2
E+E|sequa o(a)§ 3 C = %

A7
"3

Answer: D

o Watch Video Solution

11. Evaluate \/20 +4/20 4+ /20

A —5

B.5



https://dl.doubtnut.com/l/_b5YeJEX9FRv8
https://dl.doubtnut.com/l/_7ITZLev41ze1
https://dl.doubtnut.com/l/_aUa4p0KCVuv6

C.4

Answer: B

o Watch Video Solution

12. If o and B are thr roots of the equation az® + bz + ¢ = 0 then

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aUa4p0KCVuv6
https://dl.doubtnut.com/l/_YjtrFkGMz3oo
https://dl.doubtnut.com/l/_lF07arTNOnp3

13. The roots of the equation z* — 8z + 12 = O are ... .

A. Real and equal
B. real and unequal
C.real and irrational

D. unreal

Answer: B

o Watch Video Solution

14. If one root of the equation is the reciprocal of the other root in

az® + bz + c = Othen .. .


https://dl.doubtnut.com/l/_lF07arTNOnp3
https://dl.doubtnut.com/l/_3Y2x3yqcnVve

D.c=b

Answer: A

o Watch Video Solution

15.If & and B are roots of the equation 22 4+ 2z + 8 = 0 the the value

B

a .
of — + — S e .
a

B

A —
2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3Y2x3yqcnVve
https://dl.doubtnut.com/l/_Pxi3u447Ph7T

_ 10 2
16.|f[m+y v y]:l

then x,y, z are ........... .
6 7 z] Y

A.4,6,6
B. 6,6,4
C.6/4,6

D.4,4,6

Answer: C

o Watch Video Solution

17.1f[—1 —2 4]| a | = — 10then the value of "a" is ........... .
-3
A2
B.—4

C.4


https://dl.doubtnut.com/l/_jF3SzdxiiJdy
https://dl.doubtnut.com/l/_buCkqvu2cGg3

Answer: D

o Watch Video Solution

18. The matrix A given by (aij) ifa; =1 — Jis au. .

2x2

0 11
A.

| —1 0

0 11
B.

|1 0 |

"1 01
C.

| 0 1]

1 0 ]
D.

0 -1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_buCkqvu2cGg3
https://dl.doubtnut.com/l/_gqLmjKxX2iHm

19.If the order of matrix Ais 3 x 4 and the order of B is 4 x 3 then the

order of BAis .

A3 x4

B.4 x4

C.3x3

D.4x1

Answer: C

o Watch Video Solution

1

20.1f [4 3 2]| —2| = 6then "X"is ... .
T

Al
B.2

C.3


https://dl.doubtnut.com/l/_vB6kvI8g9O7K
https://dl.doubtnut.com/l/_A7iWkG1o2eGc

D.4

Answer: D

o Watch Video Solution

21.Solvex +y=7,y+z2=4,z+z =1

o Watch Video Solution

22. Find the HCF of 252y, 352°%y%, 4523y®

o Watch Video Solution

23.Find the HCFof z® + 22 + z + 1and 2* — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_A7iWkG1o2eGc
https://dl.doubtnut.com/l/_fMHXIZfK5DTN
https://dl.doubtnut.com/l/_reFGSllpMw0S
https://dl.doubtnut.com/l/_uXeeHENiRAti
https://dl.doubtnut.com/l/_1bc1a8fQ99sJ

24. Find the LCM of 23 + y3, 3 — y3, zt + m2y2 + 3/4

° Watch Video Solution

25.Findthe LCMofz® + 22 —z —landz® + 322 —z — 3

o Watch Video Solution

26. For What value of k, the GCD of [z’ +z — (2k+2)] and

2¢% 4 kx — 12is (z +4) ?

o Watch Video Solution

27. Simplify

224+2—6
2 +4x + 3

o Watch Video Solution



https://dl.doubtnut.com/l/_1bc1a8fQ99sJ
https://dl.doubtnut.com/l/_IcOvrOPaWY6Y
https://dl.doubtnut.com/l/_ULgJkn2NTuAZ
https://dl.doubtnut.com/l/_Co8kXzb83haI
https://dl.doubtnut.com/l/_3pX3AJpGCHAo

312 2
a’b a‘ —1
28. Multipl by ————

o Watch Video Solution

2 _ 6
20.fp =% =30 ag= 2T

find the value of £
x2 — 49 T

° Watch Video Solution

2 2
30. Simplify xiy . yi -

o Watch Video Solution

31.Find the square root (z + 11)2 — 44z

o Watch Video Solution

1
32. Find the square root of z* + gy + 2


https://dl.doubtnut.com/l/_3pX3AJpGCHAo
https://dl.doubtnut.com/l/_w4dEtIwklrij
https://dl.doubtnut.com/l/_t9rzBDRCIGDc
https://dl.doubtnut.com/l/_Fg8z9OphLGJC
https://dl.doubtnut.com/l/_Xhhl4xkyacEq

o Watch Video Solution

2
T — 2

33.Solve the equation 2 — 1 — =3

o Watch Video Solution

34.Find the roots of v/2z? + 7z + 5v/2 = 0

o Watch Video Solution

35.Solve \/z + 5 = 2x + 3 using formula method.

o Watch Video Solution

36. The sum of a number and its reciprocal is 377 Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xhhl4xkyacEq
https://dl.doubtnut.com/l/_J0CtIKrLayFY
https://dl.doubtnut.com/l/_N5Idm7T2Ao0N
https://dl.doubtnut.com/l/_YuRk3q8HQGxR
https://dl.doubtnut.com/l/_wi6lHcaLJFzR

37. Determine the nature of the roots of the equation 22> +z — 1 = 0

° Watch Video Solution

38. Find the value of k for which the given equation 922 + 3kz + 4 = 0

has real and equal roots.

o Watch Video Solution

1
39. If one root of the equation 3z®> — 10z +3 =0 is 3 then the

other root is

o Watch Video Solution

40. Form the quadratic equation whose roots are 3 + /7,3 — /7

o Watch Video Solution



https://dl.doubtnut.com/l/_MeWXH60WmY4z
https://dl.doubtnut.com/l/_AZP8zb6cc4Kv
https://dl.doubtnut.com/l/_o6PV7bBYGxuv
https://dl.doubtnut.com/l/_mIRznIPfVeaO

41.1f o and S are the roots of the equation 3z — 5z + 2 = 0, then find

the value of a8 + a8

o Watch Video Solution

42. Detemine the matrix A = (aij)3 (o T @i =31 —2j

o Watch Video Solution

1 0 3
43.1f A = l

d B _125ﬁdBA
452311 = n —

7 31

° Watch Video Solution

44.Findzif[2 = 3]| = | =13
-1

° Watch Video Solution



https://dl.doubtnut.com/l/_VaCD3PK0Wbvj
https://dl.doubtnut.com/l/_djEo0y5FQxbP
https://dl.doubtnut.com/l/_YHbmM0MwJwmB
https://dl.doubtnut.com/l/_kiLKHANXpj3G

1 0
45.If A = |3 -1 a,ndB:l
2 4

31 -2
find BA
4 6 0 ]

o Watch Video Solution

46. Find the unknowns a, b, ¢, d in the given matrix equation.

d+1 10+a] [ 2 2a+1
3b—2 a—4| |b—5 4c

o Watch Video Solution

3 5 2 =5
47. Prove that ll 2] and [ 1 ] are multiplication is inverse to
each other.
o Watch Video Solution
Yy z T
48. Sol - = = - = = ——=1
olve x 3 6,y - 8, 2z 5 0

o Watch Video Solution



https://dl.doubtnut.com/l/_BEE7GvAbYGML
https://dl.doubtnut.com/l/_kF2XbQMKm9nn
https://dl.doubtnut.com/l/_KW50uuPs78ZH
https://dl.doubtnut.com/l/_cXtFJ57vsb4L

49.Solve: 2(z + 3) — 10 = 6(32 — 3x)

o Watch Video Solution

50.Solve: 4z — 7(2 — z) = 3z + 2

o Watch Video Solution

51. Solve: 4 =
t2 — 25 5—t

o Watch Video Solution

52.Find the G.C.D of z° — 10z + 31z — 30 and 2z° — 822 + 2z + 12

o Watch Video Solution



https://dl.doubtnut.com/l/_cXtFJ57vsb4L
https://dl.doubtnut.com/l/_016ckD2eE3AP
https://dl.doubtnut.com/l/_FHbxltGFGqBt
https://dl.doubtnut.com/l/_Kr7aTJIXlJFm
https://dl.doubtnut.com/l/_ZlRmj1XK205o
https://dl.doubtnut.com/l/_OvV1BbnJ8aeZ

53, The G.CD of z* + 323 + 522 + 262 + 56 and

2t + 223 — 422 — x + 28is 2 + 5x + 7 Find their LC.M.

° Watch Video Solution

54. Find the values of "a" and "b" given that
p(z) = (:732 + 3z + 2) (m2 — 4z + a)g(z) = (mz — 6z + 9) (mz + 4z + b)

and their G.CD.is (z + 2)(z — 3)

o Watch Video Solution

55. Find the other polynomial g(x), given that LCM, HCF and p(x) as
(z—1)(z—2)(z* -3z +3),z -1 and z® — 4z* + 6z — 3

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_OvV1BbnJ8aeZ
https://dl.doubtnut.com/l/_4P1oEyaepdcW
https://dl.doubtnut.com/l/_sUV8OnL1LXHv

222 + 12 — 3 222 4+ 5x + 3

56.Divide —————— b
ivide (:n—l)2 v R
o Watch Video Solution
z—3 2¢ — 1 2¢ + 5

57, Simpli n .
Py e 6 2152 -3 215246

o Watch Video Solution

58. Find the square root

(62® + 5z — 6) (62> — = — 2) (42 + 8z + 3)

of

o Watch Video Solution

6

59. Solve: =
ove o 3T 212

)
3

o Watch Video Solution



https://dl.doubtnut.com/l/_vlYtDQVl0JHB
https://dl.doubtnut.com/l/_zmZdp8svg9os
https://dl.doubtnut.com/l/_Hfw9IUVNG8dv
https://dl.doubtnut.com/l/_BDrTOQtZc3hZ
https://dl.doubtnut.com/l/_PxPWqwgvykez

60. If m — nx + 28z + 1223 + 9z is aperfect square, then find the

values of m and n.

° Watch Video Solution

61.If > + 4z + a is a perfect square, find the value of "a" .

o Watch Video Solution

4 2

62. Sol ]
ove T 316 3

° Watch Video Solution

63. A two - digit number is such that product of its digits is 14. If 45 is
added to the number, the digits interchange their places. Find the

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_PxPWqwgvykez
https://dl.doubtnut.com/l/_IfgxbCtSfDLp
https://dl.doubtnut.com/l/_dHMeTRtsVVmO
https://dl.doubtnut.com/l/_bDOfb2en3k9Y

64. A rectangular field is 16 m long and 10 m wide. There is a path of
uniform width all around it, having an area of 120m?>. Find the width of

the path.

o Watch Video Solution

65. If « and B are the roots of the equation 3z2 — 5z +2 = 0, find the

value of

()E‘FE(")a_ﬂ(”')?‘f‘ﬁ

o Watch Video Solution

66. If a and S are the roots of the equation 3z — 6z + 1 = 0 form the

equation whose roots are (i) a’B, B2 (i) 2a + B, 28 + «

o Watch Video Solution



https://dl.doubtnut.com/l/_bDOfb2en3k9Y
https://dl.doubtnut.com/l/_m1l4IcnWAg9H
https://dl.doubtnut.com/l/_fV9O51PwENI6
https://dl.doubtnut.com/l/_eBhvYqqvXPpC
https://dl.doubtnut.com/l/_UDRcZnXhCoC5

12 13
and X+Y =]6 5
4 8

67.FindXandYif X — Y =

S = N
S W

o Watch Video Solution

z? 2z —5
68.Solve forx,y | , | +3 =
Y -3y —18

o Watch Video Solution

69.1f A = [320140005] , show that A*> — 7A + 10I; = O.

© Watch video Solution

70. Verify that(AB)T = BT AT
2 3 —1 L2
A= [ ] and B= |3 —3
41 5
2 6

o Watch Video Solution



https://dl.doubtnut.com/l/_UDRcZnXhCoC5
https://dl.doubtnut.com/l/_LQ3MoqgFGixM
https://dl.doubtnut.com/l/_3j918S8Bp7Dz
https://dl.doubtnut.com/l/_1MQlgEi0CTrV

71. Draw the graph of y = z? and hence solve 2 — 4z — 5 = 0

o Watch Video Solution

72. Draw the graph of y=2z>+x —6 and hence solve

202 +2—-10=10

o Watch Video Solution



https://dl.doubtnut.com/l/_hp5AJmeFVkKL
https://dl.doubtnut.com/l/_LMVI8ZQSjW3s

